Temperature Conversion Worksheet
The two temperature scales used most often to record temperature are the Celsius scale and the Fahrenheit scale.  The Fahrenheit scale is used almost exclusively in the United States while the rest of the world used the Celsius scale.  

To Convert from one scale to another the following formula may be used:

oF = 1.8 oC  + 32   (What does the 32 represent?)
In other classes you may have used the fraction 9/5 instead of the decimal 1.8  to find the Fahrenheit or Celsius temperature values.  Replacing the fraction with the decimal will make the algebra needed to solve for either temperature easier to work using a calculator, AND if the decimal value is rounded to 2 estimation of the temperature value is much easier.
Convert 10.0 oC  to oF    Estimated answer  2x10 = 20 + 32  =   52oF
oF = 1.8 oC  + 32   
oF = 1.8 (10.0) + 32

oF = 18.0  + 32

oF = 50.0

Convert 10.0 oF to oC   Estimated answer  10 – 32 =  --22 / 2 = 11 oC
oF = 1.8 oC  + 32   

10.0 = 1.8 oC + 32

--22 =  1.8 oC

--12.2 = oC

Work the following temperature conversions.

	Celsius                oC
	Fahrenheit                       oF

	0.0
	

	
	40.0

	55.0
	

	
	110.

	37.5
	

	
	15.0

	-4.5
	

	
	-4.5

	150.
	


Discussion Questions:  Based on the table above, answer the following: 

1) At what temperature (in degrees Celsius) would it have to be outside before you wore a winter coat?  Why? 
  
  
  

2) At what temperature (in degrees Celsius) would you want it to be outside before you went swimming?  Why? 
  
  
  

3) If it is 20 degrees Celsius outside, how would you describe the temperature -  Hot, warm, cool, or cold?  Why? 
  
  

The International System of Measurements (SI) uses the Kelvin scale for measuring temperature. The Kelvin scale is based on the concept of absolute zero, the theoretical temperature at which molecules would have zero kinetic energy.  Absolute zero, which is about -273.15 oC, is set at zero on the Kelvin scale.  This means that there is no temperature lower than zero Kelvin, so there are no negative numbers on the Kelvin scale.  

The equation used to convert measured temperatures from a Celsius thermometer to the Kelvin scale is:

K = oC + 273.15  To make the equation easier to remember, the added value is 

                             usually rounded to 273

Convert the following

	Celsius                oC
	Kelvin          K

	0.0
	

	55.0
	

	37.5
	

	-4.5
	

	150.
	


